#= 1

T B B X I T REERR S
L REAB|S M 2 £ 12 B 18 B L RERAB|S M2 £ 12 B 18 A
B B SE B RE R B0S (HxE B EERE S E S

N e o
s MR s :
— M ) S = ,,{l A\ -,
T \Y/V o N - 7 A g N & S
N 7 W~ %
= i

]
D)

\

RS
A

184°2

SAR N I WA A ) {22 AR AR AN
T EAIT H S < [E e R AR (D R 1JHF 1273
(KRB A S B340, H B0 R ORRE 5,
s, )

BRRZNDER [SERMORRE

X i F & |1-6913

X i3 0 & % [#EES

Xig DO EH |[#ERREHMBAEA

RaE

ITRHKREERRE

TR K ERANE A X 1

)
)

=

—— B 5
REBLEES |
Y Yy

cﬁwlg

=IQW
N

LS

BN

1:2,500
SRRV

50
~

LT

O COREHEIE, ZHEEREICLHMMEIC. RAICLIREHERFZLI-LDOTHY ., —BELO>TRADEENHYET,

FHLE EREHRICE RS,




SF241831H8

THREZERRBEEFREXGILVEIR)
#t 2 _ FEERH
EES I 1 -6913 I [EliEa I H#aES I AT 7EH#h [#E 8 REmhiEAREM

B LR

%/

»—,5‘:5.--




RIET KREHA
SH241A8318

i

X (%) (8 X—ED)

E R

|5

AT - Hhizg

IAREH

i 2

E &4 (ERE)

AERMOAER

1-6913
=g =te]

R0 BT

T

RE

)

i#

> s = S = = oW
> o = 38 4 RN 7 N \ — NN
5 . R ——— g > > =2 AW )
= 77 e = T A= AT N
— = ) 4 7 =oAL V «/\\JNM
= ‘ Z = N
2 7 7 A < a >
= 2 \ & (2 3 S | ,/%w
i Ay o € e S>> % 7 1= S, - ‘
Iy A N/ a1 ) \ i S
¥ VA = I LS e >
R i / (R % = -
~1 \ \ ; 4 e \

= 3

o

ih
1/25,000)

X (S

R

2IE

|
|

SN \)k \

=

=

=

NS

N

A

X. BT HERDRDRRE BTSN, )

-

ZERITHHEI

a
AR

FEEEDR 1JHF 1273 (AR

e = 7K

H D= T Hb g

-

BIEEI




IWKEFEMREFZRER
B 4—1 REMERE  SF2F1H31H
EAES | 16913 I EF A I BB ES | P |#ERRETHEER

\/Q\/w N

5T

> (7
BESLURER
\ \_
= L
K ER
DD 176.1
176.1 'Qi
\ =)
]
o BEIcksh
T BOESS] o
R EERR C | &% <;7
] o m 174.4
BEI=L B HH
+RbE 100kN/ m*%#8 % % K 15, - B B
SRR X 8
OO 498 10




THREEREASHER

B 4—2 | FAEEEB  SM25F1A31H8

EES | 1-6913 | | HRAES | Frath |[EERREMHGER

=
g_‘l
IR

KOG = T,

HIEIZEDAH

WEIZED
] s »
AP REERE C | o
kN/m’

#EEAImE

TR E BADHXE

4RI 2k X i

ZD DR 113

T REQEBEIZEL NN 4
GEememmC O




